Variance and Standard Deviation

Say we need to find the Standard Variation and Variance for 
{20, 15, 9, 17, 18, 7, 5, 2, 3, 14}

First find the mean

20 + 15 + 9 + 17 + 18 + 7 + 5 + 2 + 3 + 14 = 110 / 10  = 11

Then find the difference between each data value and square it (can make distance positive since we are squaring it)

92 + 42 + 22 + 62 + 72 + 42 + 62 +  92 + 82 + 32 = 392 
Then divide it by number of data values   392 / 10  = 39.2  

39.2 is the variance. The variance is the average of the squared differences.

The square root of 39.2 is 6.3 which is the standard deviation

